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Question Number : 1 Question Id : 1908891792 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct word that can best complete the given sentence:

A well-balanced diet can be a/an for stress.

(1) spirit (2) buffer

(3) antidote (4) medicine
Options :

1908897101. 1
1908897102. 2
1908897103. 3

1908897104. 4

Question Number : 2 Question Id : 1908891793 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

From the choices given below, select the pair which exhibits the same relationship as the one
in capitalized pair of words:

HERBS : MEDICINE
(I)  hooks : knowledge (2) sound:radio

(3)  time:watch (4) juice : orange



Options :

1908897105. 1
1908897106. 2
1908897107. 3
1908897108. 4

Question Number : 3 Question Id : 1908891794 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the most suitable synonym:

ADEPT

(1) devious (2) wily

(3) clumsy (4) dexterous
Options:

1908897109. 1
1908897110. 2
1908897111. 3

1908897112. 4

Question Number : 4 Question Id : 1908891795 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : No Is

: MCQ Option Shuffling : No Is

Identify the part of the body with which the disease 1s associated:

Hepatitis

(1) gall bladder (2) diaphragm

(3) stomach (4) lver
Options:

1908897113. 1
1908897114. 2
1908897115. 3



1908897116. 4

Question Number : 5 Question Id : 1908891796 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the meaning of the expression below from the options given:

ex officio
(1) unofficial (2) asaresult of one's status
(3) a retired official (4) make public

Options :

1908897117. 1
1908897118. 2
1908897119. 3

1908897120. 4

Question Number : 6 Question Id : 1908891797 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the meaning of the underhned word:

Confidence in government hospitals has eroded considerably in the past decade.

(1) gradually destroyed (2) been reimposed
(3) corroded (4) withered
Options :

1908897121. 1
1908897122. 2
1908897123. 3

1908897124. 4

Question Number : 7 Question Id : 1908891798 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Identify the meaning of the phrase below from the options given:

A person who helps others specially those who are poor or in trouble

(1) philhellene (2) philadelphus
(3 philanderer (4) philanthropist
Options :

1908897125. 1
1908897126. 2
1908897127. 3

1908897128. 4

Question Number : 8 Question Id : 1908891799 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the most suitable antonym:

ERRATIC

(1) loose (2) faulty

(3) regular {(4) brave
Options :

1908897129. 1
1908897130. 2
1908897131. 3

1908897132. 4

Question Number : 9 Question Id : 1908891800 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : No Is

: MCQ Option Shuffling : No Is



Identify the meaning of the 1diom from the options given:

A bird's-eye view

(1) without care (2) within the walls
(3) an overall view (4) out of place
Options :

1908897133. 1
1908897134. 2
1908897135. 3

1908897136. 4

Question Number : 10 Question Id : 1908891801 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct word from the answer:

Farmers know that changing winds rain or drought.

(1) bring (2) create

(3) form (4) present
Options:

1908897137. 1
1908897138. 2
1908897139. 3

1908897140. 4

Question Number : 11 Question Id : 1908891802 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The H.C.F. (Highest Common Factor) of 3556 and 3444 1s :

(1) 23 (2) 25
(3) 26 (4) 28
Options :

1908897141. 1
1908897142. 2
1908897143. 3

1908897144. 4

Question Number : 12 Question Id : 1908891803 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ifa+ b=5and 3a+ 2b =20, then (3a + b) will be :

(1) 10 (2) 15
(3) 20 (4 25
Options :

1908897145. 1
1908897146. 2
1908897147. 3

1908897148. 4

Question Number : 13 Question Id : 1908891804 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the sum of a number and its square 1s 182, what 1s the number?

(1) 15 (2) 26
(3) 28 (4) None of these
Options :

1908897149. 1



1908897150. 2
1908897151. 3

1908897152. 4

Question Number : 14 Question Id : 1908891805 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

88% of 370 + 24% of 210 -7 =118

(1) 256 (2) 258
(3) 268 (4) 358
Options :

1908897153. 1
1908897154. 2
1908897155. 3
1908897156. 4

Question Number : 15 Question Id : 1908891806 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative based on relationship:

Tractor : Trailer : : Horse : ?

(1) Stable (2) Cart
(3) Saddle (4) Engine
Options :

1908897157. 1
1908897158. 2
1908897159. 3

1908897160. 4



Question Number : 16 Question Id : 1908891807 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the word which 1s least like the other words in the group:

(1) Geometry (2) Algebra
(3) Trigonometry (4) Mathematics
Options :

1908897161. 1
1908897162. 2
1908897163. 3

1908897164. 4

Question Number : 17 Question Id : 1908891808 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the number which 1= different from others in the group.

(1) 8314 (2) 2709
(3) 1315 (4) 2518
Options :

1908897165. 1
1908897166. 2
1908897167. 3

1908897168. 4

Question Number : 18 Question Id : 1908891809 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If PALE 1s coded as 2134, EARTH 1s coded as 41590, how 1s PEARL coded 1n that code?

(1) 29530 (2) 24153
(3) 25413 (4) 25430
Options :

1908897169. 1
1908897170. 2
1908897171. 3

1908897172. 4

Question Number : 19 Question Id : 1908891810 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Rahul told Anand. Yesterday I defeated the only brother of the daughter of my
grandmother.” Whom did Rahul defeat?

(1) Son (2) Father
(3)  Brother (4) Father-in-law
Options :

1908897173. 1
1908897174. 2
1908897175. 3

1908897176. 4

Question Number : 20 Question Id : 1908891811 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the given words 1n alphabetical order and choose the one that comes first.

(1) Science (2) Serutiny
(3) Seripture (4) Seramble

Options:



1908897177. 1
1908897178. 2
1908897179. 3

1908897180. 4

Question Number : 21 Question Id : 1908891812 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If Atul finds that he 1s twelfth from the right in a line of boys and fourth from the left, how

many boys should be added to the line such that there are 28 boys in the line?

1 12 (2) 13
3 14 (4) 20
Options :

1908897181. 1
1908897182. 2
1908897183. 3

1908897184. 4

Question Number : 22 Question Id : 1908891813 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The India Energy Outlook 2021 1s a new special report from the

(1) NITI Aavog
(4] Ministry of Power
(3) International Energy Agency

(4) Ministry of New and Renewable Energy

Options:
1908897185. 1
1908897186. 2

1908897187. 3



1908897188. 4

Question Number : 23 Question Id : 1908891814 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who among the following wrote the famous book titled "We the people'?

(1) T. N. Seshan (2) KiranBed
(3) Nanabhoy Palkhivala (4) Khushwant Singh
Options :

1908897189. 1
1908897190. 2
1908897191. 3

1908897192. 4

Question Number : 24 Question Id : 1908891815 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of following committees 1s related to Personal Data Protection™

(1) B. N. Srikrishna Committee (2) C.Rangarajan Committee
(3) Bimal Jalan Committee (4) Bhurelal Committee
Options :

1908897193. 1
1908897194. 2
1908897195. 3
1908897196. 4

Question Number : 25 Question Id : 1908891816 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(Galathea National Park 1= located in

(1) Andaman and Nicobar (2) Lakshadweep
(3) Coromandel Coast (4) Konkan Coast
Options :

1908897197. 1
1908897198. 2
1908897199. 3

1908897200. 4

PART B -LLM
Section Id : 19088949
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 19088975
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 1908891817 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A resident of a colony writes to the judge of a High Court complaining about the company
polluting the environment in the area resulting in health hazards. This:

(1)  Cannot be treated as a writ petition

(2)  Can be treated on a write petition

(3)  Can be partially treated a writ petition

(4)  Can be treated as a petition only 1f 1t was presented by a lawyer

Options :

1908897201. 1
1908897202. 2
1908897203. 3
1908897204. 4

Question Number : 27 Question Id : 1908891818 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Right to education 1s declared as fundamental right by the Supreme Court in:

(1) Olga Tellis’ case (2) Mohini Jain's case
(3)  Unmknshnan's case (4) In Re Kerala Education Bill
Options :

1908897205. 1
1908897206. 2
1908897207. 3

1908897208. 4

Question Number : 28 Question Id : 1908891819 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Preamble 1s:

(1)  Part of the Constitution (2) Not a Part of the Constitution
(3)  Prelogue to the Constitution (4) None of these
Options :

1908897209. 1
1908897210. 2
1908897211. 3
1908897212. 4

Question Number : 29 Question Id : 1908891820 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Parliament can amend:

(1) Any part of the Constitution

(2) Any part without disturbing the basic structure
(3) Only fundamental rghts

(4) Only directive Principles

Options :

1908897213. 1
1908897214. 2
1908897215. 3

1908897216. 4

Question Number : 30 Question Id : 1908891821 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following Fundamental Duties relates to environmental protection?

(1) 51A(M) (2) H1A(c)
3) 51A(g) 4) B5lA®



Options :

1908897217. 1
1908897218. 2
1908897219. 3

1908897220. 4

Question Number : 31 Question Id : 1908891822 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Justice Bhagwatl delivered a minority opinion in favour of Directive Principles 1n:

(1) Kesavananda Bharati's case (2) GolakNath's case
(3) Minerva Mill's case (4) Sajjan Singh'’s case
Options :

1908897221. 1
1908897222. 2
1908897223. 3

1908897224. 4

Question Number : 32 Question Id : 1908891823 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the followmng doctrine relates to the interpretation of the legislative conflicts
hetween the Union and the States?

(1)  Doctrine of clear and present danger
(2)  Precautionary approach
(3)  Starer decisis

)

(4)  Pith and substance

Options :



1908897225. 1
1908897226. 2
1908897227. 3

1908897228. 4

Question Number : 33 Question Id : 1908891824 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Imperative theory of law was propounded by:

(1 Pound {(2) EKelzen
(3) Austin (4) Salmond
Options :

1908897229. 1
1908897230. 2
1908897231. 3

1908897232. 4

Question Number : 34 Question Id : 1908891825 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the theores of pumishment 1s considered as Judicial contribution
change?

(1)  Deterrent (2) Preventive
(3)  Reformative (4) Retmbutive
Options:

1908897233. 1
1908897234. 2
1908897235. 3

1908897236. 4

: MCQ Option Shuffling : No Is

: MCQ Option Shuffling : No Is

to social



Question Number : 35 Question Id : 1908891826 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A person knows the consequences of the act. But he acts without caring the consequences. He
15 said to be:

(I)  Neglgent (2) Stupid
(3)  Malicious (4) Highhanded
Options :

1908897237. 1
1908897238. 2
1908897239. 3

1908897240. 4

Question Number : 36 Question Id : 1908891827 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Right-Duty co-relation 1s expounded by:

(1) Austin (2) Fuller
(3) Honfeld (4) Cardozo
Options:

1908897241. 1
1908897242. 2
1908897243. 3

1908897244. 4

Question Number : 37 Question Id : 1908891828 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The jurist who gave more Predominance to the Rule of Law than Droit Administratiff was:

(I)  Jenmngs (2) Dicey
(3)  Salmond (4) Hall
Options :

1908897245. 1
1908897246. 2
1908897247. 3

1908897248. 4

Question Number : 38 Question Id : 1908891829 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The theory of "Social Engineering’ was propounded by:

(1) Austin (2) Iver Jennings
(3) Roscoe Pound (4) Dicey
Options :

1908897249. 1
1908897250. 2
1908897251. 3

1908897252. 4

Question Number : 39 Question Id : 1908891830 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Law 1 an instrument of:

(1) Social Deviance (2) Social change
(3) Soclal Status (4) Social Exculpation
Options :

1908897253. 1
1908897254. 2
1908897255. 3

1908897256. 4

Question Number : 40 Question Id : 1908891831 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which case the House of Lords confirmed expheitly that ‘a treaty to which Her Majesty's
government 1s a party does not alter the law of the United Kingdom”:

(1)  Arab Monetary Fund Vs. Hashim

(2)  J.H. Rayner (Mincing Lane) Ltd. Vs. Department of Trade and Industry

(3)  Macline Watson Vs. Department of Trade and Industry

(4)  Trendtix Trading Corporation Vs. Central Bank of India

Options :

1908897257. 1
1908897258. 2
1908897259. 3

1908897260. 4

Question Number : 41 Question Id : 1908891832 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Using the codes given below indicate the chronological sequence in which the following
Judgments were delivered by the International Court of Justice:

(A)  Rights of Passage case

(B)  Rights of U.S. Nationals in Morocco

(C)  The Reparation Case

(D)  Temple of Preah Vihar

() (D). (A).([B)and (C)
(2 (C).(B). (D)and (&)
3) (D). (B).(A) and (C)
@ (0. (®B).(A) and (D)

Options :

1908897261. 1
1908897262. 2
1908897263. 3
1908897264. 4

Question Number : 42 Question Id : 1908891833 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Mateh List [ with List IT

ListI List II
(A) Declaratory Theory of recognition (' Temple of Preah Vihar
(B) Constitutive Theory (Il E.C. Arbitration Commussion 1in
Yugoslavia
(C) Acquiescence (IT) International Registration of Trade

Mark (Germany)

(D) Customs (IV) North-Sea continental shelf case

Choose the correct answer from the options given below:

(D) (A-ID. (B)-II). (O)-@. (D)-1V)
@ (A, B)-1). (C)-IV). D)-ID)
3 (A)-AV), B)-{I), (O)-1D. D)@
@ (A-IV). B)-D. (©)-). DI

Options :

1908897265. 1
1908897266. 2
1908897267. 3

1908897268. 4

Question Number : 43 Question Id : 1908891834 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Assertion (A): The International Court of Justice 1s a principal organ of the United Nations

Reason (R) : The U.N. Charters recognizes it so.

In the hight of the above statements, choose the most appropriate answer from the options
given below

(1)  Both (A) and (R) are true and (R) is the true explanation of (A).

(2)  Both (A) and (R) are true and (R) 1s not the true explanation of (A).
(3)  (A)1s true but (R) 1s false.

(4)  (A)1s false but (R) true.

Options :

1908897269. 1
1908897270. 2
1908897271.3

1908897272. 4

Question Number : 44 Question Id : 1908891835 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which caze arbitration was not used for settlement of disputes:

(1) Amoco Finance Caze
(2) Interpretation of the Treaty of Lausanne
(3) Passage through the Great Belt Case

(4) Interpretation of finance Case

Options :

1908897273. 1
1908897274. 2
1908897275. 3

1908897276. 4

Question Number : 45 Question Id : 1908891836 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The first case in which a chamber of the International Court of Justice heard a case was:

(1) Frontier Dispute Case (Burkina Faso Vs. Mali)
(2)  Land and Martime Boundaries Case (El Salvador Vs. Honduras)

(3)  The Gulf of Maine Case
(4)  The Elettranica Case

Options :

1908897277. 1
1908897278. 2
1908897279. 3

1908897280. 4

Question Number : 46 Question Id : 1908891837 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Section 9 of Hindu Marriage Act 1955 has been declared unconstitutional by the Supreme
Court 1n a case:

(1)  Sant1Vs. Ramesh

(2)  T. Sareetha Vs. T. Venkatah Subhiah
(3)  Trith1 Kaur Vs. Kripal Singh

(4)  AK Kapoor Vs. Union of India

Options :

1908897281. 1
1908897282. 2
1908897283. 3
1908897284. 4

Question Number : 47 Question Id : 1908891838 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The Supreme Court has held that mother can be natural guardian even in the presence of
father. In a case:

(1)  Vishaka Case (2) Mangla Prasad Case
(3)  Gita Hamharan Case (4) Hanuman Prasad Case
Options :

1908897285. 1
1908897286. 2
1908897287. 3

1908897288. 4

Question Number : 48 Question Id : 1908891839 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hindu Minor's Marrage 1s:

(1) Valid (2) Voud
(3) Voidable {4) None of these
Options :

1908897289. 1
1908897290. 2
1908897291. 3
1908897292. 4

Question Number : 49 Question Id : 1908891840 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For how many years a person has to be a High Court judge to become a Supreme Court
Judge?

(1)  Seven (2) Five
(3)  Nine 4) Five
Options :

1908897293. 1
1908897294. 2
1908897295. 3

1908897296. 4

Question Number : 50 Question Id : 1908891841 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The most approved from of divorce under Muslim Law 1s:

(1) Talag- 1- Tafweed (2) Talag—1- Alisan
(3) Talag —1- Hasan (4) Talag—1- Bidat
Options:

1908897297. 1
1908897298. 2
1908897299. 3
1908897300. 4

Question Number : 51 Question Id : 1908891842 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Mushm marmage takes place without fixing of a dower. The marrmage will be:

(1) Sahih (2) Batil
(3) Fasid (4) None of these

Options :



1908897301. 1
1908897302. 2
1908897303. 3

1908897304. 4

Question Number : 52 Question Id : 1908891843 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The latest theory of contract 1s:

(1) Will theory (2) Theory of enforceability
(3) Purpose theory (4) Fides Ficta
Options :

1908897305. 1
1908897306. 2
1908897307. 3
1908897308. 4

Question Number : 53 Question Id : 1908891844 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Quasi contract emerged from:

(1) Assumpsit (2) Indebitatus assumpsit
(3) Non feasance (4) Mis feasance
Options :

1908897309. 1
1908897310. 2
1908897311. 3

1908897312. 4



Question Number : 54 Question Id : 1908891845 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If agreement 1s against public policy, 1t shall be:

(1) Void (2) Voidable
(3) Valid (4) Irregular
Options :

1908897313. 1
1908897314. 2
1908897315. 3

1908897316. 4

Question Number : 55 Question Id : 1908891846 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Under the Indian Contract Act wagering agreements are:

(1) Mlegal
(2) Voidahle
(3) Only void and never illegal

(4) Void. but can be made 1llegal by enactment

Options:

1908897317. 1
1908897318. 2
1908897319. 3

1908897320. 4

Question Number : 56 Question Id : 1908891847 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A person consulted a doctor and got a prescription,

(1) Patient has to pay fee as doctor demands
(2) Patient has to pay as he wish to pay
(3) Doctor can charge reazonable fee

(4) Court shall decide the fee of doctor

Options :

1908897321. 1
1908897322. 2
1908897323.3

1908897324. 4

Question Number : 57 Question Id : 1908891848 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Silence amounts to fraud:
(1) Always (2) Never
(3) When duty to speak in not fulfilled (4) None of these
Options :
1908897325. 1
1908897326. 2
1908897327. 3

1908897328. 4

Question Number : 58 Question Id : 1908891849 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Slander 15 not actionable per se. It means:

(1) Intention 1s to be proved (2) Damages are to be proved

(3) Breach of duty is to be proved {(4) None of these



Options :

1908897329. 1
1908897330. 2
1908897331.3

1908897332. 4

Question Number : 59 Question Id : 1908891850 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The doctrine of contributory negligence 1z not applicable. when negligence 1s committed by:

(1) Women (2) Child
(3) State (4) None of these
Options :

1908897333. 1
1908897334. 2
1908897335. 3

1908897336. 4

Question Number : 60 Question Id : 1908891851 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A drver was reversing a car. There was a child behind the car but the child was not 1njured
at all. The mother of the child looking from some distance was shocked under misconeeption
that an accident of her child took place:

(1) Drver will be liable for nervous shock
(2)  Not Lable
(3)  Liable at the discretion of court
(4)  None of these
Options :
1908897337. 1

1908897338. 2



1908897339. 3

1908897340. 4

Question Number : 61 Question Id : 1908891852 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the defamatory statement 1s true. the affected party may

(1) Claim damages (2) Cannot claim
(3) Partial damages are allowed {4) None of these
Options :

1908897341. 1
1908897342. 2
1908897343. 3

1908897344. 4

Question Number : 62 Question Id : 1908891853 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
For neghigence. which theory 1s correct:

(1) Objective theory
(2) Subjective theory
(3) Ohbjective as well as subjective theory

(4) None of these
Options :
1908897345. 1
1908897346. 2
1908897347. 3

1908897348. 4

Question Number : 63 Question Id : 1908891854 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Due to earthquake a tenant died. The Landlord can take defence of:

(1) Inevitable accident (2) Act of God
(3) Volenti non fit injuria (4) Statutory Authority
Options :

1908897349. 1
1908897350. 2
1908897351. 3

1908897352. 4

Question Number : 64 Question Id : 1908891855 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Under which one of the following sections of Indian Penal Code, the word “offence” has been

defined:
(1)  Sec. 39 (2) Sec. 40
(3) Sec.41 (4) Sec. 42
Options :

1908897353. 1
1908897354. 2
1908897355. 3

1908897356. 4

Question Number : 65 Question Id : 1908891856 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following 1s not essential to attract the provisions of Sec. 149 of the Indian

Penal Code:

(1) Any member of unlawful assembly may commit an offence

(2)  Offence 1s committed after pre meeting of minds

(3)  Offence 1s committed In prosecuting of common object of the unlawful assembly

(4)  Unlawful assembly consists five or more than five persons having common object

enumerated under Section 141 of the Indian Penal Code

Options :

1908897357. 1
1908897358. 2
1908897359. 3

1908897360. 4

Question Number : 66 Question Id : 1908891857 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X. a married woman being annoved from family quarrels. threatens her hushand that she
would commit suicide by falling into a nearby well. She runs towards the well but at distance
she 13 stopped from committing suicide by a stranger from behind. Decide Liability:

(1) X1s hable for an attempt to commit smeide
(2
t
(4

X 15 not liable for an attempt to commit suicide

[

)
) X1s hable for threatening of suicide
)

None of these

Options :

1908897361. 1
1908897362. 2
1908897363. 3

1908897364. 4

Question Number : 67 Question Id : 1908891858 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Point out the correct statement:

X abets Y to beat Z. While Y was beating Z. he causes fracture in Z's leg.
(1) X1z hable for abetment to cause simple hurt

(2)  X1s hable for abetment to cause grievous hurt

(3) X 12 not hable for grievous hurt because he did not abet Y to cause 1t

(4) WNone of these
Options :
1908897365. 1
1908897366. 2
1908897367. 3

1908897368. 4

Question Number : 68 Question Id : 1908891859 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following 12 NOT an essential of an offence ?

(1) Motive (2) Intention
(3) Punishment (4) Prohibited act
Options :

1908897369. 1
1908897370. 2
1908897371. 3

1908897372. 4

Question Number : 69 Question Id : 1908891860 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



X a boy of 22 years sits on the cot of a sleeping girl of 19 years old and pulls down her lower
clothes.

Point out correct Answer:

(1)  X1s hiable for punishment under section 376 of the Indian Penal Code
(2)  X1is liable for pumishment under section 354 of the Indian Penal Code
(3)  Xis hiable for punishment under section 509 of the Indian Penal Code

(4)  Xis liable for punishment under all the sectioned enumerated above

Options :

1908897373. 1
1908897374. 2
1908897375. 3

1908897376. 4

Question Number : 70 Question Id : 1908891861 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Employer's instrument of coercion iz known as:

(1) Layoff (2) Closure
(3) Lockout (4) Retrenchment
Options :

1908897377. 1
1908897378. 2
1908897379. 3
1908897380. 4

Question Number : 71 Question Id : 1908891862 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The definition of ‘Industry’ amended in the vear:

(1) 1981 (2) 1982
(3) 1984 (4) 1988
Options:

1908897381. 1
1908897382. 2
1908897383. 3

1908897384. 4

Question Number : 72 Question Id : 1908891863 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which case did the Supreme Court declare that an educational institution 1s Tndustry”?
(1)  Coir Board (2) Bangalore Water Supply
(3)  Unversity of Delh1 Vs. Ram Nath (4) Hamdard University Case

Options :

1908897385. 1

1908897386. 2

1908897387. 3

1908897388. 4

Question Number : 73 Question Id : 1908891864 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Termination of service of a workman for any reason whatsoever (except disciplinary action
and voluntary retirement) 1s:

(1) Disnussal (2) Discharee
(3)  Retrenchment (4) None of these

Options :



1908897389. 1
1908897390. 2
1908897391. 3

1908897392. 4

Question Number : 74 Question Id : 1908891865 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The minimum number of workmen required for registration of a trade union 1s:

1 7 2 8
3 9 4) 10
Options :

1908897393. 1
1908897394. 2
1908897395. 3
1908897396. 4

Question Number : 75 Question Id : 1908891866 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Last come first go’ rule 1s applicable in the case of:

(1) Closure (2) Lockout
(3) Transfer of Undertaking (4) Retrenchment
Options :

1908897397. 1
1908897398. 2
1908897399. 3

1908897400. 4



Question Number : 76 Question Id : 1908891867 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following cases the Supreme Court held that allowing medical examination of

women to prove her virgimity amounts to violation of her rght to privacy guaranteed under
Article 21 of the Constitution:

(1) Prabha Dutt Vs. Union of India

(2)  Surjeet Singh Thind Vs. Kanwaljit kaur
(3)  Kamla Dew1 Vs. State of Punjab

(4)  P.Nulla thampi Vs. Union of India

Options:

1908897401. 1
1908897402. 2
1908897403. 3

1908897404. 4

Question Number : 77 Question Id : 1908891868 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Reservation for the promotion of Scheduled Castes and Scheduled Tribes are valid as 1t 18
provided 1n:

(1)  The Constitution (Seventy-Seventh Amendment) Act
(2)  The Constitution (Eighty-First Amendment) Act

(3)  The Constitution (Eighty-Fifth Amendment) Act

(4)  The Constitution (Eighty-Seventh Amendment) Act

Options :

1908897405. 1
1908897406. 2
1908897407. 3

1908897408. 4



Question Number : 78 Question Id : 1908891869 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion (A): A proclamation of emergency can be 1ssued by the President if there 1s
imminent danger of war or external aggression or armed rebellion.

Reason (R): The President can suspend the enforcement of all Fundamental Right during
the period of emergency.

In the light of the above statements, choose the most appropriate answer from the options
given below

(1)  Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2)  Both (A) and (R) are true and (R) 1s not a correct explanation of (4)
(3)  (A)1strue but (R) 1s false

(4)  (A)1s false but (R) 15 true

Options :

19088974009. 1
1908897410. 2
1908897411.3

1908897412. 4

Question Number : 79 Question Id : 1908891870 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion (A): It 15 legal and constitutional duty of the State to provide legal aid to the poor.

Reason (R): No one shall be denied Justice by reason of his poverty.

In the hight of the above statements, choose the most appropriate answer from the options
gwven below

(I)  Both (A) and (R) are true and (R) 1s the correct explanation of (A).
(2)  Both (A) and (R) are true and (R) 1s not a correct explanation of (4).
(3)  (A)1s true but (R) 1s false

(4)  (A)1s false but (R) 1s true

Options :



1908897413. 1
1908897414. 2
1908897415. 3

1908897416. 4

Question Number : 80 Question Id : 1908891871 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Nemo debut vis Vexar1 principle 1s related to:

(1) Self-incriminatory (2) Ex-post facto law
(3) Retrospective operation (4) Double Jeopardy
Options:

1908897417. 1
1908897418. 2
1908897419. 3

1908897420. 4

Question Number : 81 Question Id : 1908891872 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Law 1s no doubt a remedy for greater evils yet it brines evils of 1ts own ” was said by:

(1)  Lord Devlin (2) Lord Atkind
(3) Chipman Grey (4) Salmond
Options :

1908897421. 1
1908897422. 2
1908897423. 3

1908897424. 4



Question Number : 82 Question Id : 1908891873 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"Custom 1s the sign of positive Law™ was expounded by:

(1) Hegal (2) Marx
(3) Austin (4) Sawvigny
Options :

1908897425. 1
1908897426. 2
1908897427. 3

1908897428. 4

Question Number : 83 Question Id : 1908891874 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Ubi civitas 1b1 lex’ means:

(1) Where there 1s state there will not be anarchy
(2) Where there 1= society there 1s law
(3) State 1s necessary evil

(4) (1) and (3)

Options :

1908897429. 1
1908897430. 2
1908897431.3

1908897432. 4

Question Number : 84 Question Id : 1908891875 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The correlative of liberty 1s:

(1) Right (2) No-Right
(3) Power (4) Duty
Options :

1908897433. 1
1908897434. 2
1908897435. 3

1908897436. 4

Question Number : 85 Question Id : 1908891876 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“A right to retain the possession of a property until the due amount 1s paid” 1s known as:

(1) Lease (2) Licence
(3)  Lien (4) Mortgage
Options :

1908897437. 1
1908897438. 2
1908897439. 3

1908897440. 4

Question Number : 86 Question Id : 1908891877 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The application physical force of the State for the enforcement of law 1s:

(1) Punishment (2) Liabihity
(3) Direction (4) Sanction
Options :

1908897441. 1
1908897442. 2
1908897443. 3

1908897444. 4

Question Number : 87 Question Id : 1908891878 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Emmanuel Kant 1s the exponent of:

(1) Retmbutive theory of punishment (2) Reformative theory of punishment
(3)  Deterrent theory of punishment (4) Preventive theory of punishment
Options :

1908897445. 1
1908897446. 2
1908897447. 3

1908897448. 4

Question Number : 88 Question Id : 1908891879 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Human Rights are operative against:

(1) Humans (2) Enemies
(3) State (4) Immorality



Options :

1908897449. 1
1908897450. 2
1908897451. 3

1908897452. 4

Question Number : 89 Question Id : 1908891880 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

International disputes are settled by:

(1) Supreme Court (2) TUnited Nations
(3) International Court of Justice (4) Panchayvats
Options :

1908897453. 1
1908897454. 2
1908897455. 3

1908897456. 4

Question Number : 90 Question Id : 1908891881 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:

Statement I: International Law 1s pure Law
Statement II: International Law IS made by a national legislature.

In the light of the above statements, choose the most appropriate answer from the options
given below

(1) Both Statement I and Statement II are correct
2

) Both Statement I and Statement IT are incorrect
3)  Statement I 1s correct but Statement IT 1s incorrect
)

(
(
(4 Statement I 12 incorrect but Statement IT 12 correct



Options :

1908897457. 1
1908897458. 2
1908897459. 3
1908897460. 4

Question Number : 91 Question Id : 1908891882 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Source of International Law 1s:

(1) Lok Sabha (2) Rajva Sabha
(3) Supreme Court of India (4) None of these
Options :

1908897461. 1
1908897462. 2
1908897463. 3

1908897464. 4

Question Number : 92 Question Id : 1908891883 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consideration must be of some value. but need not be:

(1) inadequate (2) mimmum
(3) adequate (4) maximum
Options :

1908897465. 1
1908897466. 2

1908897467. 3



1908897468. 4

Question Number : 93 Question Id : 1908891884 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:

Statement I: A having a wife alive marries another wife. The marriage 1s void.
Statement II: Monogamy 1s the rule.

In the light of the above statements, choose the most appropriate answer from the options
given below

(1) Both Statement [ and Statement IT are correct
(2)  Both Statement I and Statement II are incorrect
(3)  Statement I 1s correct but Statement II 1s incorrect

(4)  Statement I 1s incorrect but Statement II 1s correct

Options :

19088974609. 1
1908897470. 2
1908897471.3

1908897472. 4

Question Number : 94 Question Id : 1908891885 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not condition for a marriage under section b of the Hindu Marriage
Act. 1955:

(1)  Neither should have a spouse hiving
(2)  If the bride 1s below 18, consent of her guardian has been obtained

(3)  They are not within prohibited degrees of relationship
(4 Neither should be subject to recruit attach of ephilepsy



Options :

1908897473. 1
1908897474. 2
1908897475. 3

1908897476. 4

Question Number : 95 Question Id : 1908891886 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Where no form of ceremonies of marriage was gone through under Section 7 of the Hindu
Marriage Act, the marmage 1s:

(I)  Vahd (2) Voidable
(3)  Vod (4) Ineffective
Options:

1908897477. 1
1908897478. 2
1908897479. 3
1908897480. 4

Question Number : 96 Question Id : 1908891887 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Under Section 19, of the Hindu Marriage Act. 1955 a petition in a matrimonial case has to be
filed in the place:

(1) Where the marriage was solemnized

(2)  Where the Respondent was residing at the time of the presentation of petition
(3)  The parties last resided together

(4)  All of these

Options :

1908897481. 1



1908897482. 2
1908897483. 3

1908897484. 4

Question Number : 97 Question Id : 1908891888 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Mushm wife may sue for divorce under the Dissolution of Mushm Marriage Act. 1939 if the
husband has been 1nsane for a period of :

(I) 1year (2) 2 year
(3) 3year (4) 5year
Options:

1908897485. 1
1908897486. 2
1908897487. 3

1908897488. 4

Question Number : 98 Question Id : 1908891889 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the case the Question of Constitutional validity of Section 9 of the Hindu

Marriage Act, 1955 came for consideration for the first time?

(1)  Digvyjay singh Vs. Pratap Kumari
(2)  T.Sareeth Vs. T. Venkat Subbaiah
(3)  Yamunabai Adhav Vs. Anantrao Shivram) Adhav

(4)  Saroj Ram Vs. Sudarshan Kumar

Options :
1908897489. 1

1908897490. 2



1908897491. 3

1908897492. 4

Question Number : 99 Question Id : 1908891890 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Agreement 1s meeting of:

(1) Brains (2) Minds
(3) Hands (4) Documents
Options :

1908897493. 1
1908897494. 2
1908897495. 3

1908897496. 4

Question Number : 100 Question Id : 1908891891 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An offer cannot be accepted unless and until it has been brought to the knowledge of the

person:
(1)  Who made the offer (2)  Who asked for the offer
(3)  Who made invitation to offer (4) For whom 1t 1s made
Options:

1908897497. 1
1908897498. 2
1908897499. 3

1908897500. 4



